



$$\vec{r} = x\hat{i} + y\hat{j} = x'\hat{i}' + y'\hat{j}'$$

$$y' = 0$$

$$\dot{\vec{r}} = \dot{x}'\hat{i}' + x'\dot{\hat{i}}' + (y'\dot{\hat{j}}')^0 = \dot{x}'\hat{i}' + x'(\vec{\omega} \times \hat{i}') = \dot{x}'\hat{i}' + x'\omega\hat{j}'$$

$$\vec{\omega} = \omega\hat{k} = \omega\hat{k}'$$

$$\vec{\omega} \times \hat{i}' = \begin{vmatrix} \hat{i}' & \hat{j}' & \hat{k}' \\ 0 & 0 & \omega \\ \omega & 0 & 0 \end{vmatrix} \cdot \omega = \omega\hat{j}'$$

$$\dot{\vec{r}} = \dot{x}'\hat{i}' + x'\omega\hat{j}'$$

$$T = \frac{1}{2}m(\dot{\vec{r}})^2 = \frac{1}{2}m\dot{x}'^2 + \frac{1}{2}m x'^2\omega^2 = L$$

$$V = 0$$

$$\frac{d}{dt} \left(\frac{\partial L}{\partial \dot{x}'} \right) - \frac{\partial L}{\partial x'} = m\dot{x}' - \omega^2 x' m = 0$$

$$\Downarrow$$

$$\dot{x}' - \omega^2 x' = 0$$

Nastavek:

$$x' = A e^{\lambda t}$$

$$A e^{\lambda t} (\lambda^2 - \omega^2) = 0$$

$$\lambda^2 = \omega^2$$

$$\lambda = \pm \omega$$

$$x' = A e^{-\omega t} + B e^{\omega t}$$

Z.P.

$$x'(0) = x_0$$

$$x_0 = A + B$$

$$\underline{A = B}$$

$$x'(0) = 0$$

$$\underline{A = x_0 - B}$$

$$2A = x_0$$

$$B = \frac{x_0}{2}$$

$$A = \frac{x_0}{2}$$

$$x'(t) = \frac{x_0}{2} (e^{\omega t} + e^{-\omega t}) = x_0 \operatorname{ch}(\omega t) \quad \dot{x}'(t) = x_0 \omega \operatorname{sh}(\omega t)$$

$$x'(t_1) = \frac{l_0}{2}$$

$$\dot{x}'(t_1) = x_0 \omega \operatorname{sh}(\omega t_1) = x_0 \omega \sqrt{\operatorname{ch}(\omega t_1) - 1} = x_0 \omega \sqrt{\frac{l_0^2}{4x_0^2} - 1}$$

$$\frac{l_0}{2} = x_0 \operatorname{ch}(\omega t_1)$$

Z.P.

$$x'(0) = \frac{l_0}{2}$$

$$x'(0) = -\omega \sqrt{\frac{l_0^2}{4} - x_0^2}$$

Nastavek:

$$X' = Ae^{\lambda t}$$

$$\lambda = \pm \omega$$

$$\ddot{x}' - \omega^2 x' = 0$$

$$A + B = \frac{l_0}{2}$$

$$A = \frac{l_0}{2} - B$$

$$-\omega \sqrt{\frac{l_0^2}{4} - x_0^2} = -\omega A + \omega B = -\omega \frac{l_0}{2} + 2\omega B$$

$$B = \frac{l_0}{4} - \frac{1}{2} \sqrt{\frac{l_0^2}{4} - x_0^2}$$

$$A = \frac{l_0}{4} + \frac{1}{2} \sqrt{\frac{l_0^2}{4} - x_0^2}$$

$$x'(t) = \left\{ \frac{l_0}{4} e^{-\omega t} + \frac{1}{2} \sqrt{\frac{l_0^2}{4} - x_0^2} e^{-\omega t} + \frac{l_0}{4} e^{\omega t} - \frac{1}{2} \sqrt{\frac{l_0^2}{4} - x_0^2} e^{\omega t} \right\}$$

$$\underline{x'(t) = \frac{l_0}{2} \operatorname{ch}(\omega t) - \sqrt{\frac{l_0^2}{4} - x_0^2} \operatorname{sh}(\omega t)}$$

